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If you do not have all the needed data or information, state what is missing and solve algebraically
1.  The atmospheric pressure on Pikes Peak on a particular day is 0.70 atm.  What is the temperature of boiling water under this pressure?  The heat of vaporization of water is 40,680 J/gmole. 

2. The equilibrium constant for the following reaction is 1.44.  If there are initially 10 moles of SO2, 14 moles of O2, and no SO3, setup the calculation to determine the equilibrium number of moles of each gas. The total pressure is 5 atm.  All the species are gaseous.

                                   2SO2 + O2 = 2SO3 

Use the attached Data Sheet and the Ellingham Diagram for the problems below.

(Show your work and submit the Ellingham Diagram.)

 (Data sheet same as the Appendices in your textbook and Figure 8.4 and Table 8.1)

3.  Find ∆G at 1100°K for the reaction below when the pressure of each gas is 0.15 atm.



SO2(g)+ 1/2O2(g) = SO3(g)
4.  For Cr and Cr2O3 at 1000 °C what is the equilibrium

a) PO2
b) CO/CO2 ratio

c) H2/H2O ratio

5.
Calculate the volume of one mole of CO2  at 31°C and 87 atm.

